
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

PARTS FOR :  
PARTS CLEANING TANK AIR OPERATED 

MODELS:  SM22.V3 

ITEM PART NO DESCRIPTION
1 SM22C.01 BODY
2 SM22C.02 COVER
3 SM22C.03 SAFETY PLATE
4 SM22C.04 PAN SCREW 1/4" X 3/4"
5 SM22C.05 TAPPING SCREW
6 SM22C.06 SAFETY PLATE
7 FN14.UNC FLANGE NUT 1/4"
8 SM22C.08 PLUG

8-1 SM22C.08-1 OIL SEAL
9 SM22C.09 SHELF

10 SM22C.10 LEG
11 SM22C.11 PAN SCREW 1/4" C 3/8"
12 SM22C.12 EXT TOOTH WASHER M6
13 SN14.UNC NUT 1/4"UNC
14 SM22C.14 WORK SHELF
15 SM22C.15 BASKET

IT EM P A R T  N O D ESC R IP T ION

1 SM 22C.P-01 PUM P HOUSING

2 SM 22C.P-02 HOUSING FRONT COVER

3 SM 22C.P-03 FILTER, NON WOVEN FABRICS

4 SM 22C.P-04 FILTER BRACKET

5 SM 22C.P-05 HOUSING TOP

6 SM 22C.P-06 ADJUSTABLE SWITCH BOX

7 SM 22C.P-07 SWITCH BOX COVER

8 SM 22C.P-08 TAPPING SCREW

9 SM 22C.P-09 AIR PUM P

10 SM 22C.P-10 PUM P FIXED PLATE

11 SM 22C.P-11 3/16" X 5/8" PAN SCREW

12 SM 22C.P-12 FLUID HOSE

13 SM 22C.P-13 HOSE CLAM P

14 SM 22C.P-14 1/4" X 1/4" CONNECTOR

15 SM 22C.P-15 SEALING WASHER M 14

16 SM 22C.P-16 5/32" X 3/8" PAN SCREW

17 SM 22C.P-17 5/32" HEX NUT

18 SM 22C.P-18 PU HOSE QUICK CONNECTOR 1/8"

19 SM 22C.P-19 5X8 PU HOSE

20 SM 22C.P-20 PU HOSE QUICK CONNECTOR INSIDE THREAD

21 SM 22C.P-21 SILENCER 1/8"

22 SM 22C.P-22 ADJUSTABLE SWITCH

23 SM 22C.P-23 INLET PIPE

24 SM 22C.P-24 PU HOSE QUICK CONNECTOR 1/4"

25 SM 22C.P-25 AIR BLOW GUN

26 SM 22C.P-26 1/4" X 24" FLEX HOSE

27 SM 22C.P-27 1/4" L CONNECTOR INSIDE THREAD

28 SM 22C.P-28 TURBO SPIGOT

29 SM 22C.P-29 1/8" L CONNECTOR INSIDE THREAD

30 SM 22C.P-30 CLEAR TUBE

31 SM 22C.P-31 CLEANING BRUSH

32 SM 22C.P-32 INLET CONNECTOR 1/4" INSIDE THREAD

SM 22C.PA PUM P ASS'Y, COM PLETE

ISSUE NO :             1 

ISSUE DATE : 14/03/2017 

ISSUE NO :             1 

ISSUE DATE : 14/03/2017 


